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& (2000) AFSIOHEH] 201 (2400) F=EHL XIS AFSIOHE: SF: (2410) XIS o Mg (2414) K & 22| HIAIEL: (120) & AL S Z ] [ERFE][2:dH]
o = S E R o
o oo e " & 5 =
a2t g ME L AAE =2 of & o = A 2
- JHESAIXRIt&2 ERF& J|Et+=EY|
2,000,000& = 2,000
- JHESAIKI Z2H3SKNNEA ME
208,000 XIx30& = 6,240
- EXNSHZANE L ZHIN HA S0
208,000 XIx10&x23] = 4,160
- MWE3AXI B2
MBI BESer2
38,0002 x208, 000&! Xl /55x50/100x1/2x1. 1 = 39,520
HYAZ 448
A EX 5,700&x1,500€ XIx1.1 = 9,405
O|ANSE 19,000& x200& XIx1.1 = 4,180
ol2l &l H 19,000& x500& XIx1.1 = 10,450
- XNIt&EE &H HE
HIIEZAIE 8,800&x5,000&=2tx50/100 = 22,000
HES(SE - )T A2 8,800&x800&= = 7,040
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X (2000) AFBIJHEEH] 2+ (2400) €4 KIS AFSI NS &F: (2410) K oH KIBE: (2414) X = 22 HIAIES: (120) B A= A Y| (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
- JHEEE2 JYHIEME 2992
1,000,000 x521 = 5,000
- RS2 Xt AE2AAS
500,0002 x271 Ax33] = 3,000
o 3.2ZQ2LAHA
- BSAMS)|H 2 SYERIY QB2
1,72024x30024x123] = 6,192
- HEZAKD} EX B2
2202 x208,0002! X|x1/4 = 11,440
- JHEZAKIDL QHAME L OI9AE RAUEX 2B
1,7202x70001x23] = 2,408
o 6.2
- BEESMNS"IIY MAYS U OIA2R2K 2 A
5,000 x4%x 142U x 122 = 3,360
- NETHFASIAIY OFAI22 X 2 Al
5,0002 x4%Hx 142 x 123 = 3,360
- NEZAIKIDIZRE A OFI22X Al
5,0002 x3%x8YUx 124 = 1,440
- JHEZAKD AE SERY ORAI22N SA(SHE)
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I (2000) AFSIOHEHI  BH: (2400) ALK A ALSI N B (2410) KIS H g (2414) X = 2t el MIAIE: (120) 2 4 = Z b (=SR] [ 3]
i = S == S i}
of &b o AF 2 ol =
.28 NE . HAE = of & % = oA
5,000 x 17 ¥ x4 x23] = 680
301
UBE A 13,046 15,652 A2,606
13,046 15,652 A2,606/09 BAZLLALNS
o ALY ENAB(ANREX)
=3 65,0002 x5 x 128 = 3,900
SAl| 4,000 x5 x22Lx 128 = 5,280
ImE=Fa] 1,8002x5Hx22Lx 128 = 2,376
Il =
=L 130,000 x5Yx2E = 1,300
2R 5,00090x5% = 25
=10’ 3,00080x5% = 15
CEe gasd 15,0002/ x5%x2Y = 150
200 [2 2,900 & 85,200 0]
AR 0] &t 442,150 14,950 427,200 (2 0 Il 0 Al 354,050 ]
210 [2 2,900 & 85,200 0]
EEANY 442,150 0 442,150 [2 0 Jl 0 Al 354,050 ]
201
ot A | 4,350 0 4,350
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Z:(2000)AFSIJHEH] B (2400) =EH L X A ALSI N BF: (2410) K & OHE MIE: (2414) X1 = 22 MIMIEE: (210) 2 ALY (2] [0 ]
t = %S IS IR == e Im]
Ol &b <R &t = J| =
I 2 S MIE . NIMIE =2 O]l &b oM = A 2
4,350 0 4,350(01 LBt
o XEAHFUIAY ZHAXE 2UH|
4,350,000 x 14! = 4,350
(=) 1,740
(Al 2,610
202
o H 2,900 0 2,900
2,900 0 2,900/01 2 OHI
o XEBHFUIAIY AKX ZA 50|
20,0002 x5 x292 = 2,900
(2) 1,160
(Al 1,740
207
o A0 eHy| 434,900 0 434,900
434,900 0 434,900(02 & AP EHH]
o XHEIZES HASFAIAE =
434,900, 0002 x 1Al = 434,900
(%) 85,200
(Al 349,700
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:(2000) ALZI K HI  H: (2400) =4 KIS ALSIHE & (2410) KIS IH Mg (2H7)ARDEAAY  AIAIE: (220) KEHI ALY EEECE-E)
L = PSR B == i}
o & = & & 8] x
X ohst MNIE ML = o & % | = oA %
2417
ATRBEHAAY 150,000 150,000 0
200
AR O & 150,000 150,000 0
220
XA At e 150,000 150,000 0
401
NPELIEES 150,000 150,000 0
CH|
150,000 150,000 001 Al&b]
o ARREQIHIAISY 150,000,0002Ix 14! = 150,000
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K (2000) ALBINEHE] 2 (2400) QKO ALSI N B (2420) 4RI ME: (N FaREINY  MAME: (1100124t CETNCEIEE)
2 = SIS R m
ol o o i - A = 5 =
B A HIEHAIE = W A % = oA 2
2420
=e 171,586 179,176 A7,640
2421
EeiEe) ALY 171,536 179,176 A7,640
100
24 A0l 4t 154,436 164,576 A0, 140
110
01 24| 8,169 7,072 897
101
o1 24| 8,169 7,072 897
8,169 7,272 89710 L AIAFIQI = 2]
o EXO0IBHEH0IY U ASSRIURHAASE 0I5l
31,3002 X2 X202 X6 3] - 7,512
o AyRE JlpRga 7.512,0002x8.74% = 657
120
2 A= 2| 146,267 157,304 AT11,087
201
o2 oty) 71,815 75,205 A3,410
71,815 75,225 A3,410/01 Qo2
o 1.gurag
- sh2Y asasy 3,710,008 = 3,710
R T ER - Pres
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Z:(2000)APBIJHEHI 2 (2400) FE LK HALSIHEY 8 :(2420) T2 I8t (2421) F e 2l At MIAIB: (120) 2 & = 2 b [SRE] (ool dd]
i = dod = | oy i}
of &b oA AF = 9l =
.2 HE Mg = G & M= oA
300,0002!x 102 X = 3,000
- EXOIBHEHAY HA R0
3021x200, 0000H = 6,000
- ASSHEEL Hod 2 10,00024x502 = 500
- ASANY2UY 222 X2
40,0002 x40024x3/10 = 4,800
- ZA Y ARYRFT JIEIS2H|
TR EUH(IERIN) Y
200,000/ x7 CHx53] = 7,000
oRIEH £y 7Y 330,000 x7CHx 18] = 2,310
SAD EW R 55,0002/x3CHx33] = 495
SAD| =8 PY 330,0002/x3CHx23 = 1,980
SAEX PY
A4 16,5002 2008t A = 3,300
AE Y TAYPAY YHEY P
65,0002 x102 = 650
SHAES N 228 A0 L 212 ME
20021 x 1000Hx7E x17H 2 = 2,380
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X (2000) AFBIJHEEH] 2+ (2400) FEAL KIS AFSI NS &F: (2420) =E4 2t KIBE: (2421) Z= €4 22| ALRS HIAIES: (120) B A= A Y| (SR
ok = 7S I R == ] im}
of &b oH AF 2 ol =
Xt BB MIE. HIMIE = of & = A 2
DEHIAES XNEHs S50 =
70,0002 x 1791 Ax23] = 2,380
AR HEHIISH2I
20,0002 x20Ex23] = 800
A=510H L ROINH=2 S2H NEBM S0
5,0002 X300 = 1,500
o 3.2ZQ2LAHA
- BA2Y Zzez 480,0002 = 480
- 2H0IQAHRAE HIQI(HGI2MA, ZR1IPA)
250,0002 x371 Ax 123 = 9,000
o 6.2
- BA2Y =] 3,630,0008 = 3,630
- ZAYRER OIA22N 24
5,000 x7 2 x82L x 123 = 3,360
- AZFIIIUIEX OIA2L2X Al
5,000 x5 x8U x123] = 2,400
- ASADUDEX OIA2L2R Al
5,0002 x4 x7L x1235] = 1,680
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:(2000) AHBIOHEIHI  2F: (2400) FEAQRIHAARSI N &:(2420) T4 22| RIgH: (2421) F S RI2I NS HIKIE:(120) 3 &5 28| SR G-I
2 = o oa o &8 = il N 7_: ) ~
28 HE NN = of & o = oA
- ABNTYLRFT OFA22R 24
5,000&x5 2 x7 L x 128l = 2,100
o 7. Ux=
- RERA=S FHIH LR
Z3 el 330,000&x10Hx25] = 660
Spe 350,000&x10Hx25] = 700
- AESTWY LA AYREIIY AR
Z3ge Y GEES 350,0002 x2CHx18] = 700
© 9. AEZHIRII
- A0I&HT KX BLU(HB2IMA, ZF1HL)
2 =1H| 500,0002 x3M 4 x25] = 3,000
PRI 100,008 X3 £Xx55 = 1,500
S22l 100,0002! X3 A x63 = 1,800
202
ol 44,160 39,360 4,800
44,160 39,360 4,800 01 =LHOIHI
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T (2000)AFBIHEHI B (2400)FSHUIGALSI NG B (2420) F i 22 Mg (2421) 3 4 2ol ALY MIAIE: (120) 2 4 = Z b (=SR] [ 3]
i = S == S i}
of &b o AF 2 ol =
.28 NE . HAE = of & % = oA
o FRALEXH 20,0002x20Hx5Lx 128 = 24,000
o TAYR FXH| 20,0008 x7 Yx4Lx 128 = 6,720
o HEGIIYP =Y 20,0002x5Y9x4Lx103] = 4,000
o USRI - VH (=) PRH2 =0
20,0002 x4 x3L x63 = 1,440
o HZADHP =XOH  20,00024x45x4Lx103] = 3,200
o PFINAES =2 S oyl
20,0002 x52 x4 x 123 = 4,800
203
R ETH| 4,200 4,200 0
4,200 4,200 0004 BARILREXY|
o PARY YREXH|(H 22Y)
350,0002x 128 = 4,200
301
U AD 26,092 36,519 ~10,427
26,092 36,519 ~10,427|09 BU2LQABAS
o BAZLQAUAREX)
- Jlea3 65,0002 x10x 128 = 7,800
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X (2000) AFSI N HI 2 (2400) FE L XIS AFSI N Bt: (2420) =422 MIBH: (2421) =4 22| ALY HIAIEE: (120) 2 AL X 2 ) (2] [0 ]
t = 7S R == Y Im]
o & % & = p ES
I 2 S MIE . NIMIE =2 O]l &b oM = A 2
- SAH 4,00024x10H x22Ax 128 = 10,560
- WESH 1,8002x 10 x22Ux 128 = 4,752
- I=24
2e= 130,000 x 10 x2E = 2,600
(= 5,0002x10% = 50
QO 3,000€x10% = 30
- o9 g=sd 15,0002 x102x2Y = 300
200
AHSS Ol AF 17,100 14,600 2,500
220
XA AL 17,100 14,600 2,500
206
24| 600 600 Olo SHIIA=E2 FHEH IU(HHEL 2 65)
20,0002 x5Zx6H = 600
402
DIZHRH=0| 14,000 14,000 0
bS]
14,000 14,000 0101 DI2ZIXIEE =X
o SO E ZIEH 500,0002x16S = 8,000
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& (2000) A OHEEHI 24:(2400) FENRL XIS AL DN & (2420) =4 2tel NI (2421) 22l ALY MR8t (220) KEAI A [SRE] [ HH]
o = S R im)
of & o AF 2 ol =
.2 HIE A = Of & M = oA 2
o HAS =% 22 FIANL W P
60,000& x100= = 6,000
405
AHEHS S H| 2,500 0 2,500
2,500 0 2,500/01 Mt ESHSHI
o AXSURLIS AZI| 2L (1)
2,500,000 x1CH = 2,500
A E g 10,825,870 11,672,644 AB46,774
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